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CANDIDATE NAME
Subject Title
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" MATHEMATICSr •
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^ DATE: MONDAY
24/03/2025—MORNINGTVE ADVANCED LEVEL

Time Allowed: One Hour Thirty Minutes

INSTRUCTIONS TO CANDIDATES:
1. USE A SOFT HB PENCIL THROUGHOUT THIS EXAMINATION.
2. DO NOT OPEN THIS BOOKLET UNTIL YOU ARE TOLD TO DO SO.

Before the Examination begins:

3. Check that this question booklet is headed "TVE Advanced Level-7160 Mathematics, Paper1".

4. Insert the information required in the spaces provided above.
5. Without opening the booklet, pull out the answer sheet carefblly from inside the front cover of this booklet. Take care that

you do not crease or fold the answersheet or make any marks on it other than those asked for in these instructions.
ft 1

6. Insert the information required in the spaces provided on the answer sheet using your HB pencil:

Candidate Name,Centre Number,Candidate Number,Subject Code Number and Paper Number

How to answer questions in this examination:

7. Answer ALL the 50 questions in this examination. All questions cany equal marks.

8. Non-programmable calculators are allowed. p

9. For each question there are four suggested answers, A, B, C, and D.Decide which answer is correct. Find the number of the

question on the Answer sheet and draw a horizontal line across the letter to join the square brackets for the answer you have

chosen. For example, if C is your correct answer, mark C as shown below:

v

W ( 0 H (•)
10. Mark only one answer for each question. If you mark more than one answer, you will score zero for that question. If you

change your mind about an answer, erase the first made carefully, and then mark your new answer.
11. Avoid spending much time on any question. If you find a question difficult, move to the next question.You can come back to

this question later. V
12. Do all rough work in this booklet using, where necessary, the blank spaces in the question booklet
13. Mobile phones are NOT ALLOWED in the examination room.
14. You must not take this booklet and answer sheet opt of the examination room. All question booklets and answer sheets

will be collected at the end of the examination. s
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7. The real valued function f is defined an R, the .
of real numbers by/:x -> ax + b. Given that

5, /“-(2) = 3 it implies.that the value
of a -I- b is :

1 . The exact value of sin IS6 is
A

i2̂ + I)

B
A S*

5BC
C 2
D 01(V6 — V2)D

( 2x + l ,0 x 2
8. Given the function /(*) = I 7 — x, 2 < x < 4 .

{ x, 4 x 6
The function f is continuous at a point with A

2. Given that y = 2 + 3stnt , and x = 3 + 2cost
hen the Cartesian equation of the curve is
A 9(x - 3)2 + 4(y - if = 36

_

B 4(x — 3)2 + 9(y — 2)2 = 36
sequa
4A

C 3s — 2y = 13
3x - 2y = 5

5B
D 6C

2D
3. For what value of x, is 23* = 0.25?'

2 9. The area of the finite region bounded by the curve
y = x( 2 — x) and the x-axis is _
A - square units

4 - - - —

A
3

2B
3
1C 2- square unitsB
3 * square units

3-square units

C1D
12 D

4X-X3
4. The limit of as x tends to 2 is 10. The set of value of x for which x2 — 5s+ 4 0:

A 0 l x 4A
B -8 B l£ x £ 48C x e 11, 4fcD 4

X £] ~ Q3, lfu]4, -rQ°[D
5. Given that p(x ) = x3 — 3x 2 + 9x + 13, the

value of p( —1) is lim \ -̂2
"r -» 4 x—411. The

2A A 0
18B 1BC 0 46D C 1

1D
6. The total number of cartons of square tiles of

dimension 30cm required to completely cover the
floor of a room 3.5m by 4m is (consider that each

2

12. A curve is defined such that yx2 + x3 + 2y = 2.
The gradient of the curve at P( 2, —1) is

8A
3.

8B
3

4C
3

4D
3
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13. The equation x = j(y - l)2 + 5 is a/an
19. Three terms of a sequence are given by

2 + VX 5 -f y/3, 8 H- yJT, .... Implies its nu> term isHyperbolaA *

Circle (3n + 1) + V3B A
Ellipse
Parabola

C ( 2n + 1) + V3BD
(2n - 1) + V3C
f3n- l) + V314 Decomposing into partial fractions gives D

20. The number of ways of arranging all the letters of
he word BOOKS are:

1xA ll r - 2x — 60A1B 1+ 120Br- 2
30C3C

- . x -2 80D
3D 14 21. Given that the tangent to the curve

y = lx2 + ax + 15 at the point P(-2,11) is
perpendicular to the line 2y = x + 7, the value of
a gives

*- 2

8215. If^—4) = 2P .Therefore p is equal to

A -16
16B
4C

D -4 C 8
1D

16. Given that 161ogx 5 = log5 x and that x > 1 then
the value of x is 2

16A 3

22. The exact value of (~V is
rxT9

100B
625C
64D 64

3B
17. The sum of the first 21 tenhs of the series

-20,-18,-16
4
36is C••• •••

-840 .A 64
271134 DB

0C 61
[D -15

23. The cross sectional diameter of a round pillar
with equation of cross-section

(x - 2)2 + (y + 3)2 — 9 = 0 is
18. The first term of a series in geometric progression

is 24 and the fourth term is 81. The tenth term of
the progression is . 3 unitsA

18 unitsB311A
6 unitsC29
1.5 unitsD27B

2? 24. The horizontal asymptote to the curve of the
function /(x) = is

A \ y = 2

39C
26
3ioD
26 B

v = 1c
x = -3D

/
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32. If x2 -1is a factor of t (x) = 2x3 ~ V + + 6
, then p and q have values

A p = 2, q ~ 6_B p = 12, <7 = 20
C p = 6( a = ~2
D p = 6 , q = 2

25. The number of ways that 3 students can be
seated in a bus of 20 seats are:

6840A
1140B

C 60
D 1240

33. The hyperbola with equation 9x2 -16y2 = 144
las one of its foci at the point!n)i26. The value ot A *

(4 / 0)AA -1
B (3, 0)B 0

(5.0)rC 1
D 2 D go)

27.The domain of definition of the function 34. If a + i = 4 then a2 + ± isa atg( x ) = log (^) is 14A
Df = ]“°°/-2[u]l# +oo[A 16B

C 5B
12DC Df = ]—oo,-2[

D Df = ]1,+OG[
* 35. Given that x3 + y3 = 370 and x + y = 10,->

the positive value of x-y is
28. If the graph of the function f ( x ) = 4kx passes

hrough the point (2, 36), then the value of k is 1A
B 436A 0c2B 10D9C

3D 36. What must be added to the polynomial
6x4 — 23x3 + llx2 + 12A: to make it exactly
divisible by x —1? •29. Given that Un = 5n \ then is

A I 0 6A
1B B -6
£ 18C

C —00 D -18
D +00

37. The modulus of the complex number 1+1
gives

30. H ( x) = 3x2 + 12A: + 17 expressed in the form
a( x + b )2 — k, implies the value of k is equal to

1+ yf3i
A V3

17A B Vs-17B IC
3 V2D5C

D -5
38. If Cy = K , the value of C when

y = and K = 2 islim stnx-x .
1A
2
1B

Mura
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39. The probability distribution of a random variable X
is as shown on the table below. 45. The value of x for which Vx2 -f 1 — 7 — x gives

3 421 24x A
k1 11P( X = x) 7

24B5 15410
The value of k is 7

7CA 27
244 -7D’7B A- 241C

1D 7b?domain of definition of the functionA f

*tO.
2

40. The general solution of the equation A Dg = R
2cosec6 = is P9 = f — <», +<»]

po =\-oo,+2[
Da =loo,-2[u]2,+co[

B

9 = m+ (-l )nT CA
D

B 0 = 7I7l + (^l)"-
47. If f (x) = 2x and ff ( x ) = l - 3x then fq(2) is7Tc 9 = 2jm +- 10A

71 B -10D 0 ^ 2 c -11
D 11

41. If x 2 -f y2 = 9, then ^~ te egruate to
48. The modulus of the vector V = —6t 4- 2/ -f 3A: is[ A 2x + 2y

3V5A9 - 2x! B
V4lBy

yc c 7
D -1xD

V
49. The exact value of 4sfrt~cosIis

42. If - in3x — Inx . ihen is equal to
A ! I •

'

V3A
-VSB

C -2V3
B 1 -2 D 2V3

lx
C i ln3 50. Given the function f ( x) = lx1 — 8x.The

gradient of the curve of f (x ) at the point (—1, 8) isD j 0
A 143. The line 3y-4x = 12 cuts the y-axis at B -6A ! (3, 0)

B i f —3,0)
C CO.-4)
D (0.4)

C 8
D -12 s

*

44. The solution set defined Vx 6 R of the equation;
e2* — 16 = 0 is

S ={tn8)A
S ={in4}B

END.
GO BACK AND CHECK YOUR WORK

S = Qn32}C
„ finalS = i—D \

ln2
<
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